TIME PROBLEM - 1

TOTAL SITE AREA : 65 x 90 ;: 5850 SQ.M

FSI:1.8

BUILDABLE AREA : 1.8 x 5850 : 10,530 SQ.M
TOTAL UTILISED AREA: 10,522 SQ.M

COMMON PLOT : 10% OF 5850 : 585 SQ.M

1 BHK UNIT AREA: 104.5 SQ.M
2 BHK UNIT AREA : 106 SQ.M

1 BHK BLOCK AREA : TOTAL 52 UNITS : 5434 SQ.M
2 BHK BLOCK AREA : TOTAL 48 UNITS : 5088 SQ.M
TOTAL UTILISED : 5434 + 5088 : 10,522 SQ.M

1 BHK UNIT : 4 UNITS PER FLOOR
TOTAL 13 FLOORS : 4 x 13 : 52 UNITS

2 BHK UNIT : 4 UNITS PER FLOOR
TOTAL 12 FLOORS : 4 x 12 : 48 UNITS

TOTAL UNITS : 100

CLUSTER PLAN

L3 STUDIO: OIKOPOLIS

THE RISE OF THE COOPERATIVE
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